Adf

\

NGE RACE 6’6" 0.C. NEW 6" x 6" T.S. STUB COLUMNS INSTALLATION NOTES: ”
[ ETL'TS 01" X 16 6A) X \ | Z 1. PRIOR TO GUTTER INSTALLATION, PROVIDE A 6 3/4" X
e ' 1" NOTCH AS SHOWN. ALTERNATE DIRECTION
] / — — NOTE #1 OF CUTOUT & OVERFLOW IF MORE THAN (2)
W12 X 19 W12 X 14

ARE PRESENT.
GUTTER 2. USING #10 X 3/4" TEK SCREWS, ATTACH
PLASTIC OVERFLOW INTO POSITION AS SHOWN.
—————— 3. CAULK AROUND OVERFLOW AS REQUIRED. COLOR
OF CAULKING TO MATCH DECKING.
4, |F REQUIRED, PAINT OVERFLOW TO MATCH DECKING.

, SEE NOTE #2

&)
<
%)
<
ﬁ
Q
S
T
W
X

Conyers, Georgia 30012
Phone: 770—760—-8900

P.O. Box 1038

7]_0?!

GUTTER

COMPUTER AIDED DRAETIMC

SEE NOTE #3

3

___I__-
-—-—l——-

PLASTIC OVERFLOW

_____ | | OVERFLOW DETAIL /7

SCALE: 1" = 1'-0" \8_1/
i

~f

T i,

W16 X 36

W12 X 14

W12 X 19

W12 X 14

1 ’_ n
28'-0" 0/0 OF FASCIA

W12 X 19

5' 50 X 6 DEEP —
FTG. (SEE SHT. S2)
(TYPICAL)

1 24 GA. STEEL EMBOSSED WHITE——‘/
ROLLED 3" X 16" DECK

14'-0"

|
= I
g -
S 16" X 1/4" |
o STEEL COLUMNS! l
5 L X
o | L
Lid |
= |
= |
|
|
|
|
|
|
I
|
|
|
|
|
|
|
|
|

|
|
l
F————r————
' |
|
| |
N
— Y ——fF ——— ] —— T ——
N/ |
| | |
| | |
| | |
| e S .o B i e AR |
e

________f____“_
i
74"
|
I

|
I
[
|
I
|
I
I
|
|
I
I
|
I
|
I
|
|
I
|
I
|
I
I
I
I
|
|
|
|
|
|
I
I
|
|
|
|
|
I
|
|
|
|
|
|
|
|
|
|
I
|
|
|
|
|
|
|
|
|
|
|
I
|
|
i
|
|
|
|
|
|
|
|
|
:
|
|
|
|
|
I
|
I
I
|
I
[
I
|
|
|
|
I
|
1

Wi2 X 19 wig x 14| L ! o DECK pPROFILE

m < 1/2" X 6" X 14" CAP PLATE SCALE: 1 1/2" = 1'-0"
=51 = i Y ! / |
L7955 M— OVERFLOW (4 REQ(D.) , ,
oLy ‘ j\ % NEW T.S. 6” X 6” X 1/4” STUB COLUMN
1 EA. SIDE bt - / GENERAL NOTES

, S| 3/8" GUSSET
12-0 -0 18 -0 e 45 BEVEL —\ STRUCTURAL STEEL:
B i ASTM A36; WELDING SHALL BE BY A CERTIFIED WELDER USING E7OXX
' 1/4 ELECTRODES, AND IN ACCORDANCE WITH AW.S. D1.1-2000. FABRICATION

1
J AND ERECTION PER AISC, THIRTEENTH EDITION
GRIND WELD SMOOTH & PRIME

POWDER SPRINGS, GA. 30127

770.943.5977 OFFICE

4570 DUGGER DRIVE
770.943.0205 FAX

Y
A
A
|
1

A

60'-0" 0/0 OF FASCIA

—
E—

S, INC. FOR VERIFICATION. ANY DESCREPANCIES NOT REPORTED SHALL BE THE CONTRACTOR'S RESPONSIBILITY.

PAINT:

/4 x 4" x 5 LG. PRIME ALL STEEL W/ 4 MIL EPOXY — 2 MILS THICK, FINISH COAT BY OTHERS

FRAMING PLAN (A STEEL SPLICE PLATES

INSIDE STUB COLUMN
SCALE: 1/4" = 1'-0" ot

EXISTING

EXISTING T.S. 6" X 6” X 1/4" COLUMN
v okl TUBE STEEL:

ASTM AS00, Fy = 46 KS|

COLD FORM STEEL:

DETAIL @ STUB COLUMN 78 = o

L1 = 1'—Q" s1 REINFORCING STEEL:
e T \-/ ASTM A615, GRADE 60, Fy = 60 KSI

EXISTING 6” x 6" T.S. COLUMNS |
’\ 7l CONCRETE: F'c = 3000 PSI AT 28 DAYS
28'~0" 0/0 FASCIA

FOUNDATION:
DESIGNED IN ACCORDANCE WITH ACI 318-02

EARTH:

SOIL PRESSURE TO BE 2000 PSF VERTICAL, AND 150 PSF LATERAL PER FOOT OF DEPTH.

SOIL TO BE COMPACTED TO 97% STANDARD PROCTER DENSITY. IF ACTUAL CAPACITY IS LESS,
FOOTING SIZE MUST BE ADJUSTED ACCORDINGLY.

NOTIFY STRUCTURAL ENGINEER FOR POSSIBLE REDESIGN: ROGER LINGERFELT, P.E. (770) 207-7997

60'-0" 0/0 FASCIA

3’—0-6”

28" X 60° CANOPY

FRAMING PLAN, ELEVATIONS, DETAILS & NOTES
LAKE CITY, FL

JOBSITE:

Y \
L 3mmACM

FASG PANELS

1
|
|

THE 3MM ACM FASCIA IS ATTACHED TO THE MANSARD BRACKETS WITH #10 X 3/4" SELF
DRILLING SCREWS, SPACED AT 12 INCHES ON CENTER.

THE 24 GAUGE STEEL DECK PANEL POSSESS ADEQUATE STIFFNESS TO PREVENT PROGRESSIVE
DEFLECTION AND WILL NOT POND SHOULD AN OBSTRUCTION IN THE PRIMARY ROOF DRAINAGE
SHOULD OCCUR. THE STEEL DECK IS DESIGNED FOR PONDING TO ENSURE STABILITY IN THE
SUPPORT OF RAINWATER LOADS.

DESIGN LOADS:

FLORIDA BUILDING CODE, BUILDING (FBC-B)

2004 EDITION (WITH 2005, 2006 & 2007 SUPPLEMENTS)
SECTION 16

DEAD LOAD: 3 PSF

LIVE LOAD: 30 PSF

ASCE 7-02

WIND: V = 105 MPH — MAIN WIND FORCE RESISTING SYSTEM

BUILDING CLASSIFICATION CATEGORY = Il
EXPOSURE "C”
INTERNAL PRESSURE COEFFICIENTS (DOES NOT APPLY)

P = +247 PSF & —16.5 PSF (HORIZONTAL)

P = +25.2 PSF & —23.8 PSF (VERTICAL — ZONE 2) COMPONENTS & CLADDING
CANOPY TO BE DESIGNED AND SHALL BE CONSTRUCTED IN ACCORDANCE WITH THE FOLLOWING
APPLICABLE BUILDING CODES:
CL EVATION 2 _ MOMENT DIRECTION FLORIDA BUILDING CODE. BUILDING (FBC—B); 2004 EDITION WITH 2005, 2006 & 2007 SUPPLEMENTS
Loney FLORIDA BUILDING GODE. MECHANICAL (FBC-M); 2004 EDITION WITH 2005, 2006 & 2007 SUPPLEMENTS

F NG FLORIDA BUILDING CODE. FUEL GAS (FBC—FG): 2004 EDITION WITH 2005, 2006 & 2007 SUPPLEMENTS
SCALE: 1/4" = 10 FLORIDA BUILDING CODE. PLUMBING (FBC—P); 2004 EDITION WITH 2005, 2006 & 2007 SUPPLEMENTS

[———————

DESCRIPTION:

16" X 1/4” STEEL COLWS (TYP.)

BUILDING

15'-6" MIN.

2-20-08
1106
St

SEE CIVIL PLANS FOR SIZE

AND DIRECTION OF DRAINS ISLANDS

ISLANDS ISLANDS

-

CHECKED BY:  RSL

DATE.
PROJECT:
DWG. NO

TOP OF DRIVE SLAB et (Rt

= || A PR SR L

=
= TOP OF FOOQTINGS

r |

]11_ IIi

2-20-08

SCALE: AS SHOWN

\"%\J SHEET: 1 OF 2

- NOTE: CONTRACTOR SHALL CHECK ALL DIMENSIONS AND DRAWINGS PRIOR TO CONSTRUCTION AND REPORT ANY DESCREPANCIES TO KC
DRAWN BY: NP

DATE:

~N
\\‘N
~
, §
3

ELEVATION /B DISCLAMER: THE ENGINEER IS NOT RESPONSIBLE NOR LIABLE

= e S1 FOR THE STRUCTURAL INTEGRITY OF THE EXISTING BUILDING'S ROGER S. LINGERFELT, P.E.
SCALE: 1/4" = 1'-0 \_/ 8" x 6" TUBE STEEL COLUMNS AND FOUNDATION. 3360 STOCK ROAD

MONROE, GEORGIA 30656—8650
PHONE: (770) 207-7997
FLORIDA P.E. LICENSE NO. 35677 | INGINEER STAMP

N
=
PN
Y




g .
AR =L
140" o & 8§
- . %I g ” i
= i e 8'-0 = MOMENT | DIRECTION SRR
= 11/2" X 1 1/2" X 16 GA. ANGLE OUTRIGGERS S o 38 L
: @ 3'-0" 0.C. FASTEN TO PURLINS W/ #14 X 1" “OR
#10 X 3/4” 1" X 2" X 16 GA. GALVANIZED CONT. SUPPORANGLE TYP. U [t Eﬁ‘ S s« R
TEK SCREWS SOg
AT 24" 0.C. . : S
1 1/2" X 1 1/2" X 16 GA. ANGLE OUTRIGRS S o
@ 4(—0” 0.C. I("ASTEN TO W16 X 36 3/8" STIFFENER PLATES (2 PER SIDE) . | §| e
| DECK RIBS W/ (4) #14 DTvp J (3) 1 1/2" X 1 1/2" X 16 GA. CONTINUOUS ANGLES S
_/ X 1" LG. TEK SCREWS 1/4 S FASTEN TO PURLINS W/ #14 X 1" 8|3 4
#10 X 3/4 d LG. TEK SCREWS 213 (
TEK_SCREWS - ‘ > W/ ' S| at
AT EA. OR : | . Pl % 2| 14
_OR. < 11/2” X 1 1/2" X 16 GEANGLE KICK BACK @ 8 0.C. / 4 2
1/4 ‘ rd %
SR e o) o
Aluleg, \ / oy Lo L W12 X 19 S
: FASCIA PANELS L 1/2" X 16" X 24" CAP PLATE o _ S
;,Dj g1 0 » - —L . ,I - /— _F(lj . . /_ g
@) $10 x 38— \I: | 1/2" X 6" X 6" GUSSET (2 PER SIDE) L =
TEK SCREWS W12 X 19 pamtt—— 2 o~
AT EA. CONNECTION 1\ : | O\ =l <
// : P : } . g B B al O
NOTCH OUT DECK AT === - - s | | : SN S i =
EACH LEADER | e e e e e e e e e e e e e oo e e e e e e e e e e <
| [ S .
. | 1 Y <C L]
: : ) | . i ALTERNATE DECK_CLIPS 2 WSO
== f 4 o et
i L I SEE DETAL /” 6 ) SlE Lo x¢
/ \ \ 24 GA. STEEL EMBOSSED WHITE ALTERNATE [EZH SClips b vl N coL. Tom 52/ 24 GA STEEL EMBOSSED WHTE | & |3 Plced
y ey B T ol SEE DETAL /” & ) e ROLLED 3" X 16" DECK =
I | —
] e b 2 I e T SECTION (2 o| RS
3’6 PVC LEADER W/ 24 GA. L 16" x 1/4" STEEL COLUMN gl &
| | vt e S1 > O) N
_______ = STEEL EMB. WHITE COVER T ' SCALE: 17 = 10 \_/ O o
» Lig D . ®
. S|IRxXMMm
n wn O
4 12 X 3/4" TEK SCREWS q = e
; AT 8" 0.C. W/ NEOPRENE SECTION 1\ 022 3
6 WASHERS W S1 “Ww O
SCALE: * = 1'=0 P ” RO
24 GA. STEEL EMBOSSED 3’8 PVC DRAIN TO EXIT COLUMN S
WHITE GUTTER WIDE FLANGE BEAM ABOVE SLAB OR UNDERGROUND 2
P (SEE SITE PLAN) o
SEE PLAN FOR DIRECTION OF DRAINS S
oA FNGE © Brcg g O Q:
i . 5, CONCRETE PAD DESIGN SHALL BE 2
| o | PROVIDED WITH SITE PLANS BY OTHERS. S
’ %Lféb %EEEEL EMBOSSED WHITE i i | i
R A Sl RECE 16" x 1/4” STEEL COLUMN | ] &
1 ] TOP OF 6" THICK FINISHED a
A i ) ! - D CONCRETE DRIVE
“““““ e AN =) e B 1/4” ' (SEE SITE PLAN FOR DETALS) 2
- — G ST E i : } E-%
__________________________________ ! = 6) 1/2" X 4" X 6" GUSSETS &
| P | 8 2 2
A A _ i | : - I = E. 8
| DECK CLIP DETAIL /%Y B ST e | (3
T i SR s2 T N e e o e Rl e KD = = |
SCALE: 3" = 1'-0 \32 / -OOgO_D_O_U T ; 6209 Z % Zo|d
St v o =l 656~ NON-SHRINK GROUT 5 210 Q| -
s _%OQOQ g O 5O ;¢ BY OTHERS - SN =
TO STORM SEWER —© 19 9 € 3y. G o <loZ|O
(SEE SITE PLANS) \>’,\\\/\\)/ S oA § Ol w
A Lz © Y ) Q| X
18 X 2'~6" A-307 ANCHOR BOLT \/\\\/\\\ = % “ ESRE:
W/ 6" THREADED PROJECTION N // // y 4 5. 2
& (2) NUTS & OVERS|ZED WASHERS ’ ) (6) 1”@ x 2’_6” A—307 ANCHOR BOLT N \/ 8 g?] g
PER BOLT BY G.C. % g 20 : W/ 67 THREADED PROJECTION /7/%7‘% TOP OF FOOTINGS o[ g
~ ; E | & (2) NUTS & OVERSIZED WASHERS >\\/f~ o &
= ~ — — % {
Do 2|z
: } // PLATE 3/4” X 24" SQ. 4 // S
| / X % 3| i
4 1 © @ 7.4 . S| =
i N N\ = i [ %
=z #4 STRRUPS @ 12" 0/C —"7 >/ = = A
/ r) % =
5 = \/\\‘ N 8
& =1 & 1 3/16"@ HOLES FOR / ANCHOR BOLTS o Ts S !
L ,, c| w3 B \S . SHHEE
- 3. i = L=
3 . o /\ N FROST LINE 5 s S
= i " . o VP P ‘ 4\ = ~N
1 . /& : | = : — 5|8 S |2
- o \ _ ; ] R § o
N ! 8- =
i 1/2" X 4" X 6" GUSSETS AS SHOWN | 5 5|3 S|E(Z
g geis gt R—— 7| | el
N T = S -
; (R o 2ilell ] o~
ANCHOR BOLT DETAIL /% L N S IS SINATSAINA i :[f|513]8
NOT TO SCALE S2 BASE PLATE DETAIL oAy VIR AR SR SR AR AR K TR R AR TR - S|& | -
(INSTALLED BY SITE CONTRACTOR) NOT TO SCALE = Aok qHAELE:
(12 REQ’D) — Z|s|S|HA|W
7 5'-0" SQ. - 7
CANOPY FOOTING DETAIL /3 — ot
E . , PE.
NOT TO SCALE 3360 STOCK ROAD o
U MONROE, GEORGIA 30656-8650 " 4/
PHONE: (770) 207-7997
FLORIDA P.E. LICENSE NO. 35677 | ENGNEER STAMP




	001
	002

